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(2) If more than one alternative answers seem to be approximate to the correct
answer, chooae the closest one.
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1. What is the bit storage capacity of a ROM with a 512" 4-organization?
{1) 2049 (2} 2048 . (3) 2047 (4) 2046

2. Associative memory is sometimes called as -
(1) virtual memory (2) cache memory

3) ma.in.mcmory {4) content addressable memary

(173) ' 1 {P.T.0.}
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DMA interface unit climinates the need to use CPU registers to transfer data from
(1) MAR ta MBR (20 MBR to MAR

{3) I[/O units to memary (4) memory to [/O units

Suppose that a bus has 16 data lines and requires 4 cycles of 250 nsec each to transfer
data. The bandwidth of this bus would be 2 megabytes/sec. If the cycle time of the bus
was reduced to 125 nsec and the number of cycles required for transfer stayed the
same, what would be bandwidth of the bua?

(1) 1 megabyte/sec ' (2) 4 megabytes/sec

(3) 8 megrhytes/sec (4] 2 megabytes/sec

+. In 'C’, when a function is recursively called, all automatic variables

{I) are initialized during each execution of the function
{2) are retained from the last execution
{3) are maintained in a stack

{4) are retained from the first execution

In ‘C’ programming, if an array is used as a function argument, the array is passed
(1) by value

(2] by reference

(3) None of these as array cannot be used as a function argument

(4) call by name

If x=5y=2, then y A% equals ~—— {where A is a bitwise XOR operator).

(1) 00000111 (2} 10000010 (3) 10100000 (4] 11001000
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For JK flipflop J=0, K =1, the output after clock pulae will be
(1) 1 (2) no change
@B o - (4) high impedance

In object-oriented programming, adva.ntagea of mhmtance include
{1} providing a useful conceptual framework

(2) avoiding rewriting of code

(3) facilitating class libraries

{4} All of these

Consider the following statements ;
intx=22 y =15
x=(x>y]? (x+¥):(x-¥y);

What will be the value of x after executing these statements?
(1] 22 {2) 3z
3 7 (4) Error. Cannot be executed
If 73 (in base-x number syatcm] is equal to 54 (in base-y number system), the possiblt
values of x and ¥ are

(1) B, 16 . (2 10, 12 (3) 9, 13 4) 8, 11

.\

The for loop
for(i=0;i<1; ++i)
printf (*%d", 1 & 1);
(1} 0101010101 (2) 011111111 {3) 0000000000 - {4) 1111111111

3 . (P.T.0}
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13. A linising in the context of programming languages refers to
(1} multiple variables having the same value '
(2} multiple variables having the same memory location
(3} multiple variables having the same identifies
(4) multiple uses of the same variable

" 14. Consider the following statements :
intx=6y=8zw,;

¥=X++;
Z=++X;
* The value of x, y, 2 by calculating the above expressions are
{l) y=8 z=8 x=6 {2) y=6 x=B z=8
B) y=9 2=7, x=8 4) y=7, x=8 2=7

18. The use of macro in the place of functions
(1) reduces execution time (2) reduces code size

(3) increases execution time (4) increases code size
16. If n has the value 3, then the statement a[++n]|=n++

(1) assigns 4 to a[5) . -~ (2) assigna 4 to g[3)
(3) assigns 4 to a[4) (4) produces unpredictable results

17. Consider for loop in a 'C’ program. H the condition is missing
(11 it is assumed to be present and taken to be falae
(2) it is assumed to be present and taken to be. true
{3) it result in a syntax etror
(4} execution will be terminated abruptly

(173) - ' 4
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Which of the following file organization is most efficient for a file with a high degree of
file activity? )

{1) Sequential {2) 1SAM 3) VSAM (4) B-tree index

Analysis which dcte.:mmes the meaning of a atatemmt once its grammatical structure
becomes known is termed as

(1} semantic analysis (2) syntax analysis
(3} regular analysis (4) general analysis
A partiat ordered relation is transitive, reflexive and

(1) antisymmetric (2] bisymmetric

{3} antireflexive _ (4} asymmetric

If B is a Boolean algebra, then which of the following is true?
(1) B is a finite but not cqmﬁlemmted lattice

(2] B is a finite, complemented and distributive lattice

{3) B is a finite, distributive but not complemented latuoe
(4) B is not distributive lattice

- Gfaphica for Word Processor is

{1} peripheral - (2} clip art- (3) highlight (4) execute

Why are headers and footers used in document?

(1) To enhance the overall appearance of the document

{2) Te mark the starting and ending of a page

(3) To make large document more readable _

{4) To allow page headers and fﬁotcrs to appear on document when it is printed

5 {P.T.O)
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Whir.h data atructure aillows deleting data elements from front and inserting at rear?

{1) Stacks (2] Queucs (3) Deques - (4] Binary search tree

The depth of a complete binary tree is given by

(1) D, =nloggr (2) D, =nlogy n+1

3) D, =logp n . ; (4 D, =loggn+1

When representing any algebraic expression £ which uses only binary operations in a
2-tree, .

1) the variable in E will appear as external nodes and operations in internal nodes

{2) the operations in E will appear as external nodes and wariaﬁlca in internal nodes

{3) the vaﬁaﬂeaJMd aperations in E will appear only in internal nodes

(4} the variables and operationa in E will appear only in extemal nodes

*

A binary tree can'easily he converted into 2-tree

(1} by replacing each empty sub tree by a hew internal node
(2) by inserting an internal nodes for non-empty node

(3) by inserting an external nodes for non-empty node

(4) by replacing each empty sub tree by a new external node

When converting binary tree into extended binary tree, all the original nodes in binary
tree are '

(1) internal nodes on extended tree (2) external nodes on extended tree
(3) vanished on extended tree (4] internal nodes -
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The post order traversal of a binary tree is DEBFCA. Find out the pre order traversal
{1} ABPCDE (2) ADBFEC {3} ABDECF (4} ABDCEF
Whld:: of the following sorting algorithm is of divide-and-conquer type?

{1} Bubble sort ' ° (2} lnsertion sort

(3} Quick sort _ (4) Al of the abave

An algorithm that calls itself directly or indirectly is known as |

(1) sub algorithm - _ (2) recursion

(3) polish notation (4) traversal algorithm

In a binary tree, certain null entries are replaced by special pointers which paoint to
nodes higher in the tree for efficiency. These special pointers are called

(1) leaf {2) bra:_:ch (3) path [4) thread

The in order traversal of tree will yield a sorted listing of clements of tree in

(1) binary trees (2) binary search trees
(3) heaps _ (4 threaded.tree_ :
In a heap tree

(1) values in a node is greater than every value in left sub tree and smaller than right
sub tree

{2) values in a node is greater than every value in children of it
(3) both of above condition applies
(4) values in a node is less than every value in children ofit

7 - (P.T.0.)
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38. In a graph if e=|u, v), then u and v are called’

{1} endpoints of e (2) adjacent nodea | |
(3} neighbours {4} All o:l' the above :

36. A connected graph T without any cycles is called
{1} a tree graph (2] free tree

(3) a tree {4) All of the above

37. In a graph if e=(u, v] means
{1} u is adjacent to v but v is not adjacent to u
{ﬁ!:u e heging at u and ends at v
| (3) u is processor and v is suc-ceasnr )

(4) Both (2) and (3)

38. If every node u in G is adjacent to every other node v in G, A graph is said to be
{1} isolated : (2) complete

(3) finite (4) strongly connected

39. Stack is useful for implementing
(1) radix sort (2) breadth first search
(3] recursion ' | (4) depth first search

ary - | 8
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A B C is a set of attributes. The functional dependency is as follows

AB—-» B

AC—>C

C—=B
() isin INF o () is in 2NF
{3) is in 3NF (4) is in BONF

In mapping of ERD to DFD

{1} entities in ERD should correspond to an existing entity/store in DFD
(2} entity in DFD is converted to attributes of an entity in ERD

(3) relations in ERD has 1 to 1 correspondence to processes in DFﬁ

(4} relationships in ERD has 1 to 1 correspondence ta flows in DFD

A dominant entity is the entity

(1) on the N side in a 1 : N relationship

(2) on the 1 side in a 1 : N relationship

(3) on either side in a 1 : 1 relationship

(4) nothing to do with 1 : 1 or 1 : N relationship

Three tier architecture containe layers.

(1) presentation : (2} application

(3) database {4) All of the above

Yables derived from the ERD

(1) are tot:allj? unnormalised {2) are always in LNF

(3} can be further denormalised [4) may have multi-valued attributes

9 D (P.TO}
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45, An instance of relational schema R (A, B, C) has distinct values of A including Null
values. Which one of the following is true?

{1)__A'ia a candidate key (2) A is not a candidate key
(3 A i a primary key (4) Both (1) and {3)

46. The concept of locking can be used to solve the problem of
(1) lost update (2} uncommitted dependency
{3) inconsistent data {4} All of the above

47. A data model is a collection of conceptual toals for describing
(1) data and data relationships
(2] data semantics and consistency constraints
(3) data, data relationship, data semantics and consistency constraints
(4) Bath (1) and (2)

48. The result of the UNION dperation between R1 and R2 is a relation that includes
{1} all the tuples of R}

= (2] all the tuples of R2
(3) all the tuples of R1 and R2

(4) all the tuples of R1 and R2 which have common columns

49. Redundancy ié dangerous as it is a potential threat. to data ——,
(1} integrity (2} consistency
@) sufficiency ) Both (1) and (2
(173) N S 10
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What are the potential problems when a DBMS executes multiple transactions
concurrently? : '

{1) The lost update problem (2) The dirty read problem |
(3} The unrepeatable read problem (4} All of the above

In Boolean expression A+ BC equals
{1} (A+B){A+C} (2} (A'+B}(A +C)
3) (A+B){A'+C) 4 (A+B)C

Allocfﬂmfollowingm examples of real security and privacy risks, except
(1) hackers {2) span -(3) viruses (4) identity theft

Technology no longer protected by copyright, available to everyonce, is considered to be
(1) proprietary ' (2) open
(3) experimental (4) in the public domain

A goal of data mining includea which of the following ?
{1} To explain some observed event or condition

(2) To confirm that datm exists

(3} To analyzc data for expected relationships

(4} To create a new data warchouse

' Data independence means

{1} data is defined separately and not included in programs

(2) programs are not ‘dependcnt on the physical atiributes of data
(3) programs are not dependent on the logical attributes of data
(4] Both {2) and {3)

11 (P.T.0.}
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B56. When data changes in multiple lists and all lists are not updated, this causes
(1) data rtdundancy (2) information overload
{3) duplicate data | {4) data inconsistency

57. The purpuacofihe primary key in a database is to
(1) unlock the database |
(2) provide a map of the dn_ta.
(3) uniquely identify a record

(4) establish constraints on database operations

53. The most frequently used instructions of a computer program are likely to be fetched
from ' '

(1) the hard disk {2) cache memory
(3} RAM {4) registers

§9. Verification of a login name and password is known an

{1} configuration ' [2) accesaibility
{3) authentication (4) logging in
60. RSA is
{1) symmetric cryptosystem (2) asymmetric cryptosyatem
(3) block cypher (4) digital signature

61, The altering of data so that it is not usable unless the changes are undone is

(1) biometries (2} compression (3) encryption  (4) ergonomics

(173) 12
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Register is a

{1) nét'o:f capacitors used to register input instructions in a djgital--mmputer

(2) set of paper tapes and cards put in a file

(3) temporary storage unit within the CPU having dedicated or general purpose use
(4) part of the auxiliary memory

Which oné of the following is not a broadband communication medium?
(1} Microwave : (2) Fibre optic cable

{3} Twisted pair {4) Coaxial cable

In which type of switching all the datagrams of a message follow the same channel?
(1) Circuit-switching (2) Datagram packet switching
(3} Virtual circuit packet switching (4] Message switching

Whenyoﬁpurchaaeapmductuveramubﬂephonc. the transaction is called

(1) web commerce (2] e-commerce
(3) m-commerce . (4) mobile purchases
A Pixel is

(1) a computer program that draws picture
{2) a picture stored in secondary memory
(3) the smallest resolvable part of a picture
{4y All of the above

13 ' {P.T.0.)
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67. The memory location address are limited to
(1) 00000 to Offff(16) (2) C0Q0L to 9fff(16)
(3) 00010 to Sffff(16) [4) 10000 to 9A(16)

68. The contents of information are stored in
{l) memory data register (2) memotry address register
(3} memory access register (4) memory arithmetic register

69. A proxy server is used for which of the following?
(1) To provide security against unauthorized users
(2) Ta ﬁ:rnccsa client requests for web pages
{3) To process client requests for database access
4) To prowde"'rcp,up ‘

70. Which of the following are characteristica of testable software?
(1) Observability {2) Simplicity
(3) Stability (4} All of the above

71. A characteristic of a file server is which of the following?
(1) Manages file operations and is shared on a network
(2) Manages file operations and is limited to one PC
(3) Acts as fat client and is shared on a network

(4) Acts as fat client and is limited to one PC

(173) | 14
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Queue can be used to implement
{1 ra.d:ix_ sort {2) quick sort
(3]- recursion - ' {4) depth first search

The member of edges in a regular graph .of degree d and n vertices is
{1} meximum of n, d (2) n+d
(3} nd (@) nd/2

Heap allocation is required for languages

(1) that supports.recursion ' (2) that supports 1:13}'11&1:11'1’: data structure
(3] that use dynamic scope rulea | (4) All of the above

The maximum m'lmbcr of compatisons needed to sort ‘7 items using radix sort is
(assume each item is a 4 digit decimal number)

(1) 280 - (2) 40 _ (3) 47 - (4) '33

A graph with n vertices will deﬁmtely have a parailel adgc or self loop of the total
number of edges are

(1} more than n " (2} more than n+1

(3) more than (n+1)/2 @) eiian nin-1)/2

If h is any hashing funétion and is used to hash n keys into a table of size m, where
n < m, the expected number of collisions involving a particular key x is .
{1} lesa than 1 [2) less than n

{3) less than m (4) less than n /2

15 , (P.T.0}
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The minimum number of edges in a connected cycle graph on n vertices is

1 n-1 2 n 3] n+l 4 n/2

In a binary tree, the number of terminal or leaf nodea is 10, The number of nodes with
two children is

R @ 11 . @15 (4) 20

A circular list can be used to represent

{1} a stack {2} a queue

(3) B-tree {4) Both (1] and {2)

The smallest element of an Array’s index is called its

(1) lower bound (2} upper bound (3) range : {4) extraction

Which amongst the following cannot be a balance factor of any node of an AVL tree?
(1 1 2) 0 3 2 4 -1

Which of the following operations is performed more efficiently by doubly linked list
than by singly linked list?

(1) Deleting a node whose location is given

(2) Searching of an unsorted list for a given item

{3) Inserting a new node after node whose location is given
(4} Traversing the list to process each node

Search tables used by compilers ﬁnr efficient searching generally use
(1) hash tables (2) linear lists of records
(3] binary search tables | (4) binary search trees

16
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85. Which of the following sort method is stable?
(1} Straight insertion sort {2) Binary insertion sort

(31 Shell sort _ (4} Heap sort

86. One can determine whether a binary tree is a binary search tree by traversing it in

(1) prearder (2) inorder
(3) postorder (4) any of the three orders
87. The search technique for searching a stored file that requires increased amount of
. space is : : '
(1) indexed sequential search (2} interpolation search

(3) sequential search . (4) tree search

88. - Which of the following is essential for converting an infix expression to the post fix form
efficiently? TR

(1). An operator stack

(2) An operand stack _

(3) An operand stack and an operator stack
{4} A parse tree

89. In —— the difference between the height of the left sub tree and height of the right
tree, for each node, is almost one. .

(1) binary search tree (2) AVL tree
(3) complete tree - (4] threaded bma.ry tree
90. Number of possible binary trees with 3 nodes is

ERY @13 (3 14 @) 15

(173) | | 17 - (P.T.0)
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A complete full binary tree with 10 leaves

" {1} cannot have more than 19 nodes (2) has exactly 19 nodes

{3) has exactly 17 nodes (4] cannot have more than 17 nodes
In a linked list

(1} each link contains a pointer to the next link

(2) an array of pointers point to the links

(3} each link contains data or pointer to data

(4) Both (1) and (3)

An adjacency matrix representation of graph cannot contain information of
(1] nodes | (2] edges
(3} direction of edge : (4) parallel edges

Part of program where the shared memory is accessed and which should be executed
indivisibly, is called

(1) semaphores _ {2) directary

{3} critical section - {4) mutual exctusion

What is the initial value of the uemnphorr. to allow only one of the many processes ta
enter their critical uechun?

(1y O @ 1 3) 2 {4}y 3

The p:im:ipl_e of locality of reference justifies the use of
(1} virtyal memory {2) interrupts
(3} secondary memory [4) cache memory

18
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Four necessary conditions for deadlock to exist are mutual exclusion, no-preemption,
circular wait and

(1) hold and wait {2} multiprogramming
{3} .race around condition {4) buffer overflow

Memary utilization factor shall be computed as follows

(1) memory in use/allocated memory

(2) memory in use/total memory connected

(3) memary allocated/free existing memory

{4) memory committed/total memory avaitable

In which of the storage placement atrategies a pl:ﬂm is placed in the smallest
available hole in the main memory? _

(1) Best fit (2) First fit (3) Worst fit (4) Buddy

A critical section is a pragra.in segment
(1) which should run in a certain specified amount of time

- {2) which avoids deadiocks

{3} where shared resources are accessed

(4} which must be enclosed by & pair of semaphore operations, P and V

An operating system contains 3 user processes each requiring 2 units of resource R.
The minimum number of units of R such that no deadlocks will ever arise is

{1 4 ; 2 3 @ s (4) 6

19 (P.TO)
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103. Page fault frequency in an operating system is reduced when the
(1) processes tend to the 1/0-bound -
{2) size of pages is reduced
(3) processes tend to be CPU-bound

(4) locality of reference is applicable to the process

103. Concurrent processes are processea that
{1) do not averlap in time
(2) overlap in ﬁme
(3) are executed by a processor at the same time

(4) not executed by processor

104. Fragmentation is
(1} dividing the secondary memory into equal sized fragments
(3] dividing the main memory hﬁo equal sized fragments
(3} fragments of memory worde used in a page

(4} fragments of memory words unused in a page

108. In a paged memory systems, if the page size is increased, then the internal

fragmentation generally

{1} becomes less ) ' (2) becomes more

{3) remains constant (4) discard

(173) 20
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In Round Robin CPU scheduling, as the time gquantum is increased, the average turn
around time '

(1) increases - (2) 'dmea,aca

(3) remains constant : (4) wvaries irregularly -

Which of the following scheduling policy is well suited for a time-shared operating
system? ' | -

(1) Shortest job first (2) Round Robin

(3) First-come-first-serve {4} Elevator

Thrashing

(1) reduces page [/O

{2) decreases the degree of multiprogramming
13) implies excessive page [/O

(4) improves the system performance

A scheduler which selects processes from secondary storage device is called
& ! .

(1) shert-term scheduler (2) long-term scheduler

(3) medium term scheduler {4} process scheduler

Which of the following is not a standard synchronous communication protocol?

{1} PAS (2} DDCMP (3) HDLC . (4) SDILC

The interactive transmission of data within a time sharing system may be best suited
t'o -

(1) simplex lines - (@) half-duplex lines

(3) full duplex lines (4} biflex lines

21 . (P.TO)
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Which of the following is an example of a bounded medium?
(1} Coaxial cable {2) Wave guide
(3) Fiber optic cable {4) All of the above

What is the main difference between synchronous and asynchronous transmission?
(1) The bandwidth required is different

(2) The pulse height is different

(3) The clocking is derived from the data in synchronous transmission

{4} The clocking is mixed with data in asynchronous transmission

One important characteristic of LAN is

(1) parallel transmission

(2) low cost access for low bandwidth channels
(3) unlimites] expansion

14) application independent interfaces

Which of the following is possible in a token passing bus network?
(1) Unkimited number of stations (2) Unlimited distance
(3) In-ucrlvim EXpansion {4) Muitiple time-division-channels

The X.25 standard specifies a
(1) technique for dial access (2) data bit rate
(3] DTE/DCE interface (4) technique for start-stop data

22
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117. How many OSI layers are covered in the X.25 standard?
{1} Three (2) Four {3} Two {4) Seven

118, Layer one of the OS] model is
(1) physical layer - ' {2) link layer
{3) transport layer {4) network layer

119. In OSI network architecture, the routing is performed by
(1) data link layer (2) network layer
(3) transport layer (4) mession layer

120. The basic ethernet design doea not provide
(1) access control
(2) addressing
(3) automatic retranamission of a message

(4) multiple time-division-channels

121. The topology with highcst reliability is
(1} bus topology {2} star topology
(3} ring topology {4) mesh topology

122. Start and stuﬁ bits are used in serial communication for
(1) error detection : (2) error correction

(3) synchronization (4) slowing down the communication
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123,

124,

135.

126.

137.

128.

(173)

End-to-end connectivity is provided from host-to-host in

(1} the network layer (2) the transport layer
(3] the session layer (4) application layer
BSC ia a

(1) character oriented protocol (2] half-duplex protocol
(3) full-dupiex protocol " (4) Both (1} and (2)

Which of the following are non-polling systems?

‘(1) TDMA (2] Stop and Wait

{3) Xon/Xoff (4) Both (1) and (3)

The number of ¢lements in the power set of the set {{}, (2 3}} is
(1 2 2) 4 (3) 8 4) 3

Let f(x +y) = f(x] J(u). for all x,y, i £(5)=2 and £1(0)=3, then £'(S) is equal o |
(3) 1 2 5 (3 6 o 4 -1

An. ohject that groups together a set of operations that have no relations to each other
is known as :
(1) entity abgtracl:ion (2) action abstraction

(3) wvirtual machine ahstraction’ (4] coincidental abstraction
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130.

131,

1321 ’

133.

134,

136.

(173)

14P/208/4

[n the sct of integers, a relation R is defined as a Rb, if and only if b=1al This relation is
(1) reflexive (2) irreflexive

{3) symmetric ‘ (4) anti-symmetric

For a function to be invertible, it has ta be
{1} one-one {2) onto

(3) both one-one and onto {4} one to many

Trapezoidal rule gives the exact solution when the curve is
(1} concave towards the base line (2) convex towards the base line

(3) a straight line _ - (4] parabola

A group has 11 elements. The number of proper suB—gmup.i.t can have is
(1) 0 @ 11 3) 5 | 4) 4

What is the total number of equivalent relations that can be defined on the set { 1, 2, 3}?
8 (2) 64 @ s ©4) 3

Two isomorphic graphs must have _

(1) the same number of vertices (2) the same number of edges

(3] an equal number of vertices (4) All of the abave

A graph consisting of only isclated n vertices is

(1) l-chromatic {2} 2-chromatic

(3) 3-chromatic | [4) n-chromatic
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136.

137.

138,

139.

140.

141.

{173)

If B is a circuit matrix of a graph with k components, the rank of the incident matrix
A|G) of the graph is

(1) n-k @) e-n-k (3] e-n+k @] e+n—k

The determinant of matrix has 720 terms (in the unsimplified form). The order of the
matrix is

(1 s (@) 6 3 7 (4 B

For what value of ¢, will the vector i+cj be orthogonal to 2i- j?
(1) 0 2) 1 (@) 2 4 3

Let f(x} represent the largest integer less than or equal to x. Let g(x) represent the

amallest integer greater than or equal to x. Which of the fallumng remark will be true
for any x #

(1) g(x)=fix)+1 . (ﬁl fix]=g(x)
@) f(-x)=-g(x) ’ (4) All of the above

Which of the l‘nllnwmg logma.l operations almost resembles an arithmetic multiplication
operation?

(1] OR (2) AND (3) NOR | {4) XOR

If a~b<n and b-c<m, then a-c is
(1) <n+m (2) < maximum of m, r

(:3_|<m:inimuniufm,n (4) <mn
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143,

144,

145.

146.

147,

(173)

14P/208/4.

Let A B,C independent events with probabilities 0-8, 0-5, 0-3. The probebility of
osccurrence of at least one of these three is

(1} 03 (2t 093 (3) 012 4 007

A polynomial p(x| satisfies the following
p(1l)=p3)=p(5) =1
p(2)=p(4)=-1

The minimum degree of such polynomial is
(1) 1 (2) 2 _ @ 3 @) 4

What is the relation R on the set A ={ g, b, ¢} if whenever aR b and bR, then aR&?

() Transitive {2) Equivalence (3] Reflexive (4] Symmetric

-According to principle of logic, an itnplication and its contrapositive must be

(1) both true or false | (2) both true
{3} both falsc (4) both true and false

A memoiy bus is mainly uaed for communication between

{1) processor and memory (2} processor and I/0 devices

(3) 1/0 devices and memory (4) input device and output device
The idea of cache memory is based

(1} on the property oflucal.it}' of reference

(2} on the heuristic 90-10 rule

(3} on the fact that references generally tend to cluster

(4) All of the above -
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148, The register which contains the instruction that is to be executed is known as

149,

(1) index register _ (2) instruction register
(3) memory address register . (4) memory data register
If memory access takea 20 ns with cache and 110 ns without it, then the ratio (cache

uses a 10 ns memoryj is

(1) 93% (2) 90% 3) B8% (4 B7%

150. The average time required to reach 'a storage location in memory and obtain its

contents is called the

(1} seek timv_: (2] turnaround time

(3} access tme {4 transfer time

Tk
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